
?
38

18 𝑚
𝑃𝑖𝑣𝑜𝑡

4 𝑚

Find the mass so the system is in equilibrium?

Find the distance so the system is an equilibrium?

50
38

18 𝑚
𝑃𝑖𝑣𝑜𝑡

?

+

𝐻𝑜𝑤 𝑚𝑢𝑐ℎ 𝑇𝑜𝑟𝑞𝑢𝑒 𝑐𝑎𝑛 𝑎 100 𝑁 𝑓𝑜𝑟𝑐𝑒 𝑑𝑜 𝑜𝑛 𝑎 0.15 𝑚 𝑤𝑟𝑒𝑛𝑐ℎ?

0.22 𝑚𝑃𝑖𝑣𝑜𝑡
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3.5 𝑚 

6𝑚

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡ℎ𝑒 𝑠𝑡𝑟𝑖𝑛𝑔. 𝐼𝑔𝑛𝑜𝑟𝑒 𝑡ℎ𝑒 𝑚𝑎𝑠𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑙𝑒. 

𝑃𝑜𝑙𝑒

𝑆𝑡𝑟𝑖𝑛𝑔

𝐶𝑒𝑖𝑙𝑖𝑛𝑔

𝑊𝑎𝑙𝑙

𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑓𝑜𝑟𝑐𝑒 𝑜𝑛 𝑡ℎ𝑒 𝑤𝑎𝑙𝑙 𝑏𝑦 𝑡ℎ𝑒 𝑝𝑜𝑙𝑒?
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34଴

78

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑖𝑛 𝑒𝑎𝑐ℎ 𝑠𝑡𝑟𝑖𝑛𝑔.

+

40଴

47

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑖𝑛 𝑒𝑎𝑐ℎ 𝑠𝑡𝑟𝑖𝑛𝑔.

24଴
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38଴47଴

98

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑖𝑛 𝑒𝑎𝑐ℎ 𝑠𝑡𝑟𝑖𝑛𝑔.

+

18଴29଴

250

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑖𝑛 𝑒𝑎𝑐ℎ 𝑠𝑡𝑟𝑖𝑛𝑔.
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𝐴 1500 𝑘𝑔 𝑡𝑜𝑤𝑒𝑟 𝑖𝑠 𝑠𝑢𝑠𝑝𝑒𝑛𝑑𝑒𝑑 𝑜𝑛 2400 𝑘𝑔 𝑏𝑟𝑖𝑑𝑔𝑒. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐹𝑜𝑟𝑐𝑒 𝑜𝑛 𝑒𝑎𝑐ℎ 𝑃𝑖𝑙𝑙𝑎𝑟.

1500

2400

12𝑚24 𝑚 12 𝑚

𝐴 2200 𝑘𝑔 𝑡𝑟𝑢𝑐𝑘 𝑖𝑠 𝑠𝑢𝑠𝑝𝑒𝑛𝑑𝑒𝑑 𝑜𝑛 7400 𝑘𝑔 𝑏𝑟𝑖𝑑𝑔𝑒. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐹𝑜𝑟𝑐𝑒 𝑜𝑛 𝑒𝑎𝑐ℎ 𝑃𝑖𝑙𝑙𝑎𝑟.

2200

7400

140 𝑚300 𝑚 160 𝑚
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